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public class programl {
public static void main(String args[ ]{
programl pro = new programl();

}
program1(){
inti, j=0;
for (i =1; i <= 100; i++)
=it
System.out.printin(j);
}

5~ 1 Java A SRR G 2
public class program?2 {
public static void main(String args[ ]{

inti, j=0;
for (i = 1; i <= 100; i++){
if(i % 10 = = 0)
break;
=it
}

System.out.printin(j);

6~ HIHI 1) Java R o 5 B3 2
public class program3 {
public static void main(String args[ ]){
inti, j=0;
for (i = 1; i <= 100; i++){
if(1% 10==0)
continue;
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j=j+i
}
System.out.printin(j);
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public class program4 {
public static void main(String args[ ]{
int[]1s=18,2,4,1};
s = method1(s);
for(inti =0; i <s.length; i++)
System.out.print(s[i]);

}
static int [ ] method1(int [ ] ss){
inti, j,k=0;
for (i =0; i <ss.length - 1; i++)
for (j =0; j <ss.length - 1; j++)
if(ss[i] > ss[i+1]){
k = ss[j];
ss[j] = ss[i+1];
ss[j+1] = k;
}
return(ss);
}

8~ F,%%F}FJ* Sl Java A AR S AN BB 2
public class program5 {

public static void main(String args[ ]{

program>5 pro = new program5();

System.out.printin(pro.method1(10));

}
void method1(){

System.out.printin(*"Answer:" + 1000);
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}
int method1(int i, int j){
ifi==0)
return (1);
else
return(method1(i-1, j-1) * J);
}
int method1(int ss){
if(ss==0)
return (0);
else
return(method1(ss-1) + ss);
}

-
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%J‘J?@ﬁ‘,?ﬁﬁ RAID (Redundant Array of Independent Disks)0~1-5-6 B“d‘ﬁ?&[’éaﬁ(Fault Tolerance)
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